TYyXBER I 7HOFAREBHE (MA50)

Bl) 7y FEERS JROFAEHHE (MA 50 —1.0mm)

7 FEEN/M) ; 107.80 F= 235 (N/mif)
ANy B 23 3E
m wh fohd | FFARME| h fohd | FFARME| h Tohd | FFARE

1.1 22,780: 17,680 17,680| 22,780: 42,740 22,780
1.2 19,120; 13,590| 13,590 19,120; 32,900| 19,120
1.3 16,280: 10,670 10,670| 16,280: 25,850| 16,280 20,370 20,240| 20,240
1.4 14,020 8,520 8,520\ 14,020: 20,670 14,020| 17,550: 16,180 16,180
1.5 12,200 6,900 6,900 12,200: 16,790 12,200| 15,280 13,130| 13,130
1.6 10,710 5,670 5670/ 10,710; 13,810 10,710| 13,410: 10,800 10,800
1.7 9,470 4,710 4,710 9,470 11,500 9,470 11,870 8,990 8,990
1.8 8,440 3,950 3,950 8,440 9,670 8,440| 10,570 7,550 7,550
1.9 7,560 3,340 3,340 7,560 8,200 7,560 9,480 6,410 6,410
2.0 6,810 2,850 2,850 6,810 7,020 6,810 8,540 5,480 5,480
2.1 6,170 2,440 2,440 6,170 6,050 6,050 7,740 4,710 4,710
2.2 5,610 2,110 2,110 5,610 5,240 5,240 7,040 4,090 4,090
2.3 5,120 1,830 1,830 5,120 4,580 4,580 6,430 3,560 3,560
2.4 4,700 1,600 1,600 4,700 4,010 4,010 5,900 3,120 3,120
2.5 4,320 1,400 1,400 4,320 3,540 3,540 5,430 2,750 2,750
2.6 3,980 1,230 1,230 3,980 3,130 3,130 5,010 2,430 2,430
2.7 3,690 1,090 1,090 3,690 2,790 2,790 4,640 2,160 2,160
2.8 3,420 2,490 2,490 4,300 1,920 1,920
2.9 3,180 2,230 2,230 4,000 1,720 1,720
3.0 2,960 2,000 2,000 3,730 1,540 1,540
3.1 2,770 1,300 1,800 3,490 1,390 1,390
3.2 2,590 1,630 1,630 3,270 1,250 1,250
3.3 2,430 1,470 1,470 3,070 1,130 1,130
3.4 2,280 1,340 1,340 2,880 1,020 1,020
35 2,150 1,220 1,220
3.6 2,020 1,110 1,110
3.7 1,910 1,010 1,010
3.8
3.9
4.0
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1) B

- IHHRRTE 0=1/8- W-¢%/sZ = F/15

C T hRIRTE ds=k-C-5/384- W- ¢*/(Es-sl) = £,250

2) 2 ERX

- BIRRTE 0=1/8- W+ £%/nZ = F/15

- T h HIRTE dds=k-C- 1/185- W+ ¢*/(Es-sl) = £ ,/250

3) 3EHXIF

- IHHRRTE 0=1/10- W - ¢%/nZ = F/15

- e hHIRTE Ots=k-C-1/145 - W+ 2°/(Es-sl) = £ ,/250
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Es: SIM DYV RE

F: 7947 L—FEE#E3& EF(205 or 235N/mm?)

sZ: IEEHIT FABTE R

nZ: & el FAETE R

sl: BrE 2R E— AV

k: EMIERFRIE15)

C=hHEERDHREK(=1.0)
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